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SECTION 1 — 20 marks

Attempt ALL questions

 1. A car is moving at a speed of 2·0 m s−1.

The car now accelerates at 4·0 m s−2 until it reaches a speed of 14 m s−1.

The distance travelled by the car during this acceleration is

A  1·5 m

B  18 m

C  24 m

D  25 m

E  48 m.

 2. A ball is dropped from rest and allowed to bounce several times.

The graph shows how the velocity of the ball varies with time.
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A student makes the following statements about the ball.

 I The ball hits the ground at P.

 II The ball is moving upwards between Q and R.

 III The ball is moving upwards between R and S.

Which of these statements is/are correct?

A I only

B II only

C III only

D I and II only

E I and III only
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